BE 6D w=ls &5 =v

CnoxeHue fecaTnyHbIxX 3HakoB (1 yudpa)

msa:

3.3
+6.9

5.7
+7.5

7.4
+4.6

3.4
+4.9

6.5
+9.2

5.8
+6.5

3.9
+7.7

7.2
+7.9

4.1
+5.8

9.5
+/7.4

3.8
+3.6

5.9
+5.8

6.9
+3.2

4.1
+3.9

9.1
+7.3
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[arta:

2.2
+2.1

9.1
+5.3

3.1
+/.1

6.6
+2.6

7.8
+9.3

OueHka:

3.8
+8.2

9.4
+4.2

4.2
+4.3

2.9
+8.3

6.6
+5.7
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B 6T s =5 =2

CnoxeHune fecATUYHbIX 3HaKOB (1 umdppa)

3.3
+6.9
10, 2

5.7
+7.5
13,2

7.4
+4.6
12

3.4
+4.9
13,3

6.5
+9.2
15,7

5.8
+6.5
12,3

3.9
+7.7
11,6

7.2
+7.9
15,1

4.1
+5.8
9,9

9.5
+74
16,9

3.8
+8.6
12,4

11,7

16,4
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[aTa:

2.2
+2.1
4,3

9.1
+5.3
14,4

3.1
+7.1
10, 2

6.6
+2.6
9,2

7.8
+9.3
17,1

OueHka:

3.8
+8.2
12

9.4
+4.2
13,6

4.2
+4.3
8,5

2.9
+3.3
11,2

6.6
+5.7
12,3
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